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LSE-07 : TAXONOMY AND EVOLUTION

Time : 2 Hours  Maximum Marks : 50

Note : (i) Question No. 1 is compulsory.

(ii) Attempt any four questions from question

No. 2 to 6.

(iii) Attempt any five questions in all.

(iv) All questions carry equal marks.

1. (a) Fill in the blanks : 1×4=4

(i) ‘Vrikshayurveda’ was compiled by

.............. .

(ii) Living repository of plants arranged and

maintained on scientific basis with

accurate taxonomic identification of plant

is called ............... .

(iii) In .................... sterility the organisms

belonging to different species may mats,

but may not produces offspring.

(iv) All vertebrate embryos first develop a

............. type of kidney.

(b) Match the items given in column A with those

in column B : 2

Column A               Column B

(i) Neotropical region (1) Five kingdom

classification

(ii) Session gir (2) National park

(iii) Bharatpur (3) Wildlife

bird sanctuary sanctuary

(iv) R.H. Whittaker (4) South and

Central America

(c) State whether the following statements are true

or false : 1×4=4

(i) Inflorescence mean arrangement of

flowers.
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(ii) Linnaeus is the father of taxonomy.

(iii) In allopatric speciation the parent species

give rise to a daughter species without

the individual of species being separated

by territory.

(iv) Diploid is equal to 2n while 3n is the

haploid.

2. Differentiate between : 2½×4=10

(a) Natural classification and phylogenetic

classification

(b) Monadelphia and diadelphia

(c) Phylum Coelentrata and phylum

platyhelminthes

(d) Monera and protista

3. (a) Discuss the importance of cytotaxonomy. 5

(b) Discuss the use of embryological characters

in Taxonomy. 5

4. What is speciation ? Discuss the isolating mechanism

in speciation. 2+8=10

5. Write short notes on any two of the following :

5×2=10

(a) Herbarium

(b) Lamarckism

(c) Kin selection

(d) Five kingdom system of classification

6. (a) Describe Role of mutation in evolution. 5

(b) Describe industrial melanism. 5

***
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 LSE-07

ch-,l&lh- (ch-Mh-ih-)

l=kar ijh{kk

twu] 2024

,y-,l-bZ--07 % ofxZdh vkSj fodkl

le; : 2 ?k.Vs vf/kdre vad : 50

uksV % (i) iz'u la- 1 vfuok;Z gSA

(ii) iz'u la[;k 2-6 esa ls fdUgha pkj iz'uksa ds

mÙkj nhft,A

(iii) dqy ik¡p iz'uksa ds mÙkj nhft,A

(iv) lHkh iz'uksa ds vad leku gSaA

1. (d) fjDr LFkkuksa dks Hkfj, % 1×4=4

(i) ^o`{kvk;qoZsn* dk ladyu ---------------------

us fd;k FkkA

(ii) ikniksa dh ltho fjiksftVjh@ fu{ksi LFky tgk¡

mudks oSKkfud vk/kkj ij O;ofLFkr vkSj

j[kj[kko fd;k tkrk gS vkSj ikni dh ;FkkFkZ

o£xdh; igpku dh tkrh gS] -------------

dgykrk gSA

(iii) ----------- ca/;rk esa] fHkék tkfr;ksa ds tho

laxe dj ldrs gSa] ysfdu larkuksRifÙk ugha dj

ikrs gSaA

(iv) lHkh djks#fd;ksa ds Hkz.kksa esa igys ----------

izdkj ds o`Dd fodflr gksrs gSaA

([k) dkWye A esa fn, x, vk;Veksa dk dkWye B ds ls

lgh lqesyu dhft, %    2

dkWye A dkWye B

(i) fu;ksVªkWfidy izns'k (1) ikap txr~ oxhZdj.k

(ii) lsluxhj (2) jk"Vªh; m|ku

(iii) Hkjriqj i{kh (3) oU; tho

vH;kj.; vH;kj.;

(iv) vkj-,p- fOgVsdj (4) nf{k.k vkSj e/;

vesfjdk
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(x) crkb, fd fuEufyf[kr dFku lR; gS ;k vlR; gSa %

1×4=4

(i) iq"iØe dk vFkZ gS iq"iksa dk foU;klA

(ii) fyfu;l o£xdh@VSDlksukseh ds tud gSaA

(iii) foLFkkfud tkfr&mn~Hkou esa tud tkfr larfr

tkfr dk fodkl tkfr ds lnL;ksa ds {ks= }kjk

i`Fkd gq, cxSj djrh gSA

(iv) f}xqf.kr 2n ds cjkcj] tcfd 3n vxqf.kr

gksrk gSA

2. fuEufyf[kr ds chp vUrj crkb, % 2½×4=10

(d) izkÏfrd oxhZdj.k vkSj tkfro`Ùkh; oxhZdj.k

([k) eksusMsfYQ;k vkSj Mkb,MsfYQ;k

(x) Qkbye lhysUVªsVk vkSj Qkbye IysVhgSfYeUFkht

(?k) eksusjk vkSj izksfVLVk

3. (d) lkbVksVSDlksukseh@dksf'kdko£xdh ds egRo dks

crkb,A 5

([k) o£xdh esa Hkzw.kh; xq.kksa ds mi;ksx dks crkb,A 5

4. tkfr&mn~Hkou D;k gS \ tkfr&mn~Hkou esa i`FkDdj.k

fØ;kfof/k dk o.kZu dhft,A 2+8 =10

5. fuEufyf[kr esa ls fdUgha nks ij y?kq fVIif.k;k¡ fyf[k, %

5×2 =10

(d) gjcsfj;e

([k) ySekdZokn

(x) lxks=oj.k

(?k) oxhZdj.k dh ik¡p txr (fdaxMe) i¼fr

6. (d) ifjo/kZu esa mRifjorZu dh Hkwfedk dk o.kZu dhft,A

5

([k) vkS|ksfxd vfrÏ".krk (esykfuLe) dk o.kZu

dhft,A 5

***

[ 8 ][ 7 ]


